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Graham Allan will complete his morning work on the Education Centre contract before immediately 
driving to Elterwater to take over the RSA coach for the day excursion. 

(a)	 Complete the schedule below, to show Graham's activities from when he starts work until he 
arrives at Elterwater to take over the RSA coach. 

Finish Time Start Time Activity 

07.0006.00Yard duties 

07.3007.00Travel to Jane 

[4]
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(b)	 Complete the schedule below, to show Graham's activities from when he takes over the RSA 
coach to when he arrives back in Elterwater at the end of the excursion. 

Notes: 

Start and finish times MUST be given for all activities.
 

You MUST include the destination for each driving period.
 

Tachograph symbols are not acceptable for tachograph mode.
 

Tachograph Mode Finish Time Start Time Activity 

[10] 

(c)	 Explain why Graham must record all of his activities prior to taking over the RSA coach, as 
'other work'. 

........................................................................................................................................... 

........................................................................................................................................... 

........................................................................................................................................... 

...........................................................................................................................................
 

........................................................................................................................................... [1]
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Stephen Lomax has asked you to prepare a budget for operating Services 570S and 570N. 

(a) Use the information from the case study to calculate the cost for one coach to operate one 
return Service 570 (570N and 570S). 

Notes: 

You MUST show all of your workings.
 

You MUST name each cost, showing a total for each.
 

Show your workings and answers to the nearest penny.
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

........................................................................................................................................... [11]
 

(b) Calculate the profit markup to be added to the cost calculated in part (a). 

...........................................................................................................................................
 

........................................................................................................................................... [1]
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If JSC decides to operate the new intercity service 570, it will have to complete certain actions. 

JSC have decided to use the Office of The Traffic Commissioner's PSV forms for all of the necessary 
actions. 

(a)	 Outline FOUR actions in relation to operator licensing that JSC must complete before one new
 
coach can be operated from Whitehaven.
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

........................................................................................................................................... [4]
 

(b)	 Outline EIGHT actions in relation to operator licensing that JSC must complete before one
 
new coach can be operated from Croydon.
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

........................................................................................................................................... [8]
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Stephen has asked you to allocate buses to the two new local services (105 and 106) and to work 
out how many extra passengers would be needed to make town service 107 profitable. 

Note: 

You MUST show all of your workings. 

(a)	 Stephen has asked you to plan the bus requirement for the two new local bus services described 
in the case study. 

(i)	 Calculate the minimum number of buses required to operate route 105 each day.
 

................................................................................................................................
 

................................................................................................................................
 

................................................................................................................................
 

................................................................................................................................
 

................................................................................................................................
 

................................................................................................................................ [2] 
  

(ii)	 Calculate the minimum number of buses required to operate route 106 each day.
 

................................................................................................................................
 

................................................................................................................................
 

................................................................................................................................
 

................................................................................................................................
 

................................................................................................................................
 

................................................................................................................................ [2] 
  

(iii)	 Calculate the minimum number of buses required to operate services 105 and 106, if 
the two services were interworked. 

................................................................................................................................ 

................................................................................................................................ 

................................................................................................................................ [1]  
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(b) JCS operates service 107 in Lancaster, as described in the case study. 

Calculate the average number of additional passengers required each day for service 107 to
 
make a profit of 10% of the daily cost.
 

You MUST show all of your workings.
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

........................................................................................................................................... [3]
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Stephen has asked you to consider whether the Whitehaven/Kendal section of the intercity route 
could generate additional revenue if passengers had the option of travelling between intermediate 
stops on this section. 

(a)	 In relation to the proposal to allow passengers to board and alight at the intermediate stops, 

Describe the application that JSC must make to the Traffic Commissioner before it can offer 
this service and identify the form to be used. 

........................................................................................................................................... 

........................................................................................................................................... 

........................................................................................................................................... 

........................................................................................................................................... 

........................................................................................................................................... [2] 

(b)	 Outline SEVEN items of information relating to the bus service itself that will have to be given
 
in the application.
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

........................................................................................................................................... [7]
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After accepting your new role as deputy Transport Manager for JCS, you requested a copy of their 
published accounts. 

From the information provided in the case study calculate the financial indicators below as at 31 
January 2017. 

Notes: Only answers to TWO decimal places will be accepted, always rounded down. 

(a)	 Calculate JSC's Capital employed.
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

........................................................................................................................................... [1]
 

(b)	 Calculate JSC's Return on Capital Employed.
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

........................................................................................................................................... [1]
 

(c)	 Calculate JSC's Working Capital.
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

........................................................................................................................................... [1]
 

(d)	 Calculate JSC's Working Capital Ratio.
 

...........................................................................................................................................
 

...........................................................................................................................................
 

...........................................................................................................................................
 

........................................................................................................................................... [1]
 

END OF QUESTION PAPER 
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ADDITIONAL PAPER
 

The question number MUST be inserted beside each answer.
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
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.................................................................................................................................................................
 

03_05678_2017_1.20© OCR 2017 Turn Over 

http:03_05678_2017_1.20


     
 

   
 

  
 

 
   

 

 

12
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

.................................................................................................................................................................
 

Copyright Information: 

OCR is committed to seeking permission to reproduce all third-party content that it uses in its assessment materials.  OCR has attempted to identify and contact all 
copyright holders whose work is used in this paper.  To avoid the issue of disclosure of answer-related information to candidates, all copyright acknowledgements are 
reproduced in the OCR Copyright Acknowledgements Booklet.  This is produced for each series of examinations and is freely available to download from our public 
website (www.ocr.org.uk) after the live examination series. 
If OCR has unwittingly failed to correctly acknowledge or clear any third-party content in this assessment material OCR will be happy to correct its mistake at the earliest 
possible opportunity. 
For queries or further information please contact the Copyright Team, First Floor, 9 Hills Road, Cambridge CB2 1GE. 
OCR is part of the Cambridge Assessment Group. Cambridge Assessment is the brand name of University of Cambridge Local Examinations Syndicate (UCLES), which is 
itself a department of the University of Cambridge. 

© OCR 2017 
E101/1703 

www.ocr.org.uk

